
1

9049 Tyler Blvd. • Mentor, Ohio 44060
Phone (440) 974-8888 • Fax (440) 974-0165

Toll-Free Fax 800-841-8003 • buyersproducts.com

16062315INST_C

SnowDogg® Snowplow
truck mount

INSTALLATION MANUAL

MD MOUNT KIT 
16062315 

CHEVY S-10 PICK-UP '94-'03 
GMC S-SERIES PICK-UP '94-'03 

S-SERIES BLAZER/JIMMY '95-'03



2

9049 Tyler Blvd. • Mentor, Ohio 44060
Phone (440) 974-8888 • Fax (440) 974-0165

Toll-Free Fax 800-841-8003 • buyersproducts.com

	
1	

16
06

23
22

	
1	

Pu
sh

 B
ar

	
2	

16
06

23
17

	
1	

Si
de

 P
la

te
, M

ai
n 

M
nt

 S
-1

0 
PS

	
3	

16
06

23
18

	
1	

Si
de

 P
la

te
, M

ai
n 

M
nt

 S
-1

0 
D

S
	

4	
16

06
23

19
	

1	
Re

ar
 B

ra
ce

, P
S 

W
el

dm
en

t S
-1

0
	

5	
16

06
23

21
	

1	
Re

ar
 B

ra
ce

, D
S 

W
El

dm
en

t S
-1

0
	

6	
16

80
10

04
	

4	
Sc

re
w

, H
ex

 H
D,

 1
/2

-1
3 

x 
1-

1/
2 

G
r. 

5 
w

/H
D

L
	

7	
30

00
14

4	
2	

W
as

he
r, 

FL
 - 

5/
8 

US
S 

ZN
	

8	
30

06
20

2	
12

	
Sc

re
w

, H
ex

 H
D 

- 1
/2

-1
3 

x 
1-

1/
2 

G
r. 

8 
ZN

	
9	

30
02

39
7	

16
	

Lo
ck

nu
t, 

H
ex

 1
/2

-1
3,

 Z
N

 G
r. 

8
	

10
	

FW
F0

50
13

80
14

	
2	

W
as

he
r, 

Fl
at

, .
50

0 
x 

1.
38

 x
 .1

4,
 Z

N
	

11
	

FC
S0

38
01

61
50

	
4	

Sc
re

w
, H

X 
H

D 
Ca

p 
3/

8-
16

 x
 1

-1
/2

 G
r. 

5 
ZN

	
12

	
FN

H
03

80
16

02
8	

4	
N

ut
, 3

/8
-1

6 
H

ex
 Z

N
	

13
	

–	
8	

Ve
hi

cl
e 

Bo
lts

 M
-1

0
	

14
	

–	
1	

Cr
os

s M
em

be
r	

	
15

	
–	

1	
Tr

uc
k 

Fr
am

e 
PS

	
16

	
–	

1	
Tr

ac
k 

Fr
am

e 
D

S

Pa
rt

s 
Li

st
	I

TE
M

	
P

A
R

T 
N

O
.	

Q
TY

.	
D

ES
C

R
IP

TI
O

N

 1
 

 2
 

 3
 

 4
 

 5
 

 6
 

 7
 

 1
3 

 1
0 

 8
 

 9
 

 1
2 

 1
4 

 1
5 

 1
6 

 8
 

 8
 

 8
 

 9
 

 9
 

 9
 

 9
 

 1
1 

 1
1 

SO
M

E 
M

O
DE

LS
 M

AY
H

AV
E 

O
N

LY
 2

 H
O

LE
S

- D
RI

LL
 IF

 N
EE

DE
D



3

9049 Tyler Blvd. • Mentor, Ohio 44060
Phone (440) 974-8888 • Fax (440) 974-0165

Toll-Free Fax 800-841-8003 • buyersproducts.com

INSTRUCTIONS
1. Remove the bumper (Optional for this mount) and bumper 
fasteners. Set aside for later reinstallation. Remove the tow hooks 
if your vehicle is equipped with them and retain all the fasteners.

2. Position the passenger [PS] Side Plates (5) against the frame 
of the truck and align them with the four bolts removed from the 
vehicles earlier. Secure the Side Plates onto the PS frame using the 
existing fasteners. 

3. Look to the side of the PS Side Plate (2), drill through one wall 
with Ø.531 drill. Insert one Bolts with Handle (6) along with two 
Washers (7 & 10) and secure them with one ½" Nut (9) through the 
slot hole. Secure the other drilled-hole with one Bolt with Handle 
(6) and one ½" Nut (9). 

4. Repeat Step number 2-3 for the DS Side Plate (3).

5. Mount the Pushbar (1) in place between the two side plates 
using eight ½-13 x 1.5 bolts (8) and eight ½ -13 locknuts (9). The 
centerline of the Pushbar cross pin should be approximately 9" to 
10" from the ground. The air dam of the vehicle may need to be 
altered to accommodate this height. Improper mounting height will 
result in uneven cutting edge wear. 

6. Position the PS Rear Brace (4) to the frame and secure it onto 
the Pushbar (1) with two ½-13 fasteners (8 & 9). In the back, 
secure the Rear Brace to the truck’s cross member frame using 
two 3/8" bolts (11) and two 3/8" nuts (12). You may have to enlarge 
the hole to fit it through.

7. Repeat step number 6 for Driver Side Rear Brace (5) installation.  

8. It may be helpful to route the plow and light control harnesses at 
this point, prior to bumper re-installation.

9. Torque all fasteners as shown in the chart. Check and re-torque 
all fasteners after 5 hours of usage to ensure safe plow operation. 
Ensure all coolant lines and wires are clear of the moving or hot 
components and tie up as necessary. 

- ALIGN WITH THE 4 EXISTING
  BOLT HOLES FROM THE FRAMES
- IN SOME MODELS, ONLY 2
  HOLES ARE AVAILABLE.

Drill 

- Insert Two Washers Into The Bolt
With Handle Through The Slot 

- Repeat For DS 
Side Plate

9” - 10”
Mount the

Push Bar
Between the

Two Plates

- Enlarge Hole to .397"
- Insert 3/8" Bolts

Existing Bolts or 
Drill for 3/8" Bolts Available

Secure Two 

to the Pushbars
Fasteners 



4

9049 Tyler Blvd. • Mentor, Ohio 44060
Phone (440) 974-8888 • Fax (440) 974-0165

Toll-Free Fax 800-841-8003 • buyersproducts.com

16062315INST_C

WARNING
• DO NOT under any circumstances disable, remove or relocate any sensors or components related to the operation of the 
air bags.
• Always follow the vehicle manufacturers' recommendations relating to snowplow installation.
• To comply with Federal Regulations and to assure a safe vehicle, the Front Gross Axle Weight Rating (FGAWR), Rear 
Gross Axle Weight Rating (RGAWR), and the Gross Vehicle Weight Rating (GAWR) must not be exceeded at any time.
• Due to the variety of equipment that can be installed on this vehicle, it is necessary to verify that the Front Gross Axle 
Weight Rating (FGAWR), Rear Gross Axle Weight Rating (RGAWR), and the Gross Vehicle Weight Rating (GAWR) are not 
exceeded at any time. This may require weighing the vehicle and adding ballast as necessary. It may also limit payload 
capacity of the vehicle. It is the operator’s responsibility to verify that these ratings are not exceeded.

CAUTION
• Read all instructions prior to assembly
• It is critical that all fasteners be properly torqued for safe plow operation – see chart above.
• Fasteners should be retorqued after 5-8 hours of plow use

FULL TWO-YEAR WARRANTY
Manufacturer will repair, or at manufacturer’s discretion will replace any part of this snowplow which proves to be defective 
in workmanship or material under normal use for a period of one year from the date of delivery to the original purchaser. 
Any cost incurred in returning the product to the supplier is the responsibility of the consumer.

EXCLUSIONS
Manufacturer shall not be liable for special, incidental, or consequential damages, or for damages resulting from lack 
of necessary maintenance, from misuse, abuse, acts of God, or alteration of the product. Some states do not allow the 
exclusion or limitation of incidental or consequential damages, so the above limitation or exclusion may not apply to you.


